d’c/ dN*°d p"™ [pb/GeV]

Ratio to ATLAS

13000 GeV pp tt
L

— I ' I ' | ' T T T T T T T T 99
— top . . 15
— pT (ATLAS semileptonic ttbar) 13
- iE
o
— |
= =0
— JdJo
— |
— -
" o3
" g
I O | 1z
— F \\ _
S 5
¢ Q - ]
i ]?\\\ o G
— RN S
— =)
— R J©
DN o
— 13
B 5 19
— 1=
X
— B ATLAS _|%
= _ =
— ---- Herwig 7.2.1 default . m 0
- NN —
- ¢ Sherpa 2.2.5 default ‘\?”W —15
B i - O
- g
o
o
= =
Z| | | | | | | | | | |Z =
:| i T T T | f i { } |:
= 42
1
I P El B
e e ¢
— [ﬁ""EE R P los
| . 1 . 1 1 . 1 . | . 1 . 1 . 1 . 1

\ |
0 500 ot 1000
ptT’haOI [GeV], N"" =4



	Contents
	Page 1


